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Table 1: 4 Table 1: Simple price index for  goods for country names HY BRASIL 

wheat honey mead sun oil Simple

1968 50 20 40 10 100

1969 54 16 40 5 84,5

1970 56 19 40 5 89,25

1971 62 21 50 5 101

1972 64 22 50 5 103,25

 
Table 2: Composite price index for 4 goods for country names HY BRASIL 

wheat honey mead sun tan oilComposite

1968 100 100 100 100 100.0

1969 108 80 100 50 95.5

1970 112 95 100 50 99.5

1971 124 105 125 50 117.0

1972 128 110 125 50 119.0

 

 

 

 

 

 

 

What is inflation? 

 

 

Inflation is a consistent rise in the average price 

level (basket in Germany = 700 goods and 

services) and the increases in prices are sustained 

over time. It measures average changes in price 

level: 

 

Visit www.destatis.de  to learn about how the 

Bundesamt for Statistics measures inflation in 

Germany. Note: in Germany today the base year 

that is currently in use is 2015. 

 

What is inflation and how to calculate it using 

the simple price index and the composite price 

index ? 

Price Level: how is inflation measured? 

 CPI / RPI 

 Simple vs composite price index (weighted index) 

 To express any number as or a % of another number do the 

following: 

1 )      change in price         

                                         X 100, this gives you the % change 

2 )        base price 

 

e.g. Table 1: 54-50 = 4. Divide by base = 4/50*100.       

= 8% 

How to calculate a composite price 

index? 
1. follow steps 1+2 for a simple price 

index 

2. discover the fraction of income 

spent on each good: see weights 

below in blue box. 

3. multiply each simple index by the 

relevant fraction and add the result 

to form the composite index. See 

weights below 

 

How to calculate a simple price 

index? 
1. choose a base period 

2. find the price of each good and make a 

simple price index for each good 

3. Income is spent equally on each of the 4 

goods  

 

Key: These are the weights for the composite price index. This is where the items in the basket are weighted 

according to the amount of income spent on each good in the basket. Answers differ significantly. 1971: 119 

(weighted) versus 103.25 (simple) 
Weights/Fractions for HY BRASIL: 

                                       Weights: Wheat 25%, honey 20%, mead 50% and Sun tan oil 5% 
NB for HP 3 Calculate the change in price of the “whole basket” i.e. multiply each price by the weight and get a total index for each year. 

Then divide each year using the formula above. E.g. Table 1 multiply each price by the weight and get a total index for each year.  

                    Example: So in Table 2 for 1972 that would be: 128 x 0.25 + 110 x 0.20 + 125 x 0.5 + 10 x 0.05 = 119.                    

The inflation rate increased from 1971-1972 by 2% (119-117).  
 

household’ 

2. ‘errors’ in data collection e.g. use 

of samples (cannot measure all 

products on the market) 

3. ‘quality’ changes may not be 

taken into account 

4. ‘volatility’ in some sectors eg oil 

– prices change twice daily + 

spikes 

5. cpi is one view of inflation but 

there are other indices e.g. ppi 

see Blink pp 213-214 

prices 

Index 

numbers 

http://www.destatis.de/
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See German inflation indices below: Index numbers are calculated 

for each of the categories of good in the basket of goods used to 

calculate the inflation index. 

 

 

 

 

 

 

 

 

 

See HL 3 2016 Q3 for example. See sample answer below. In this case you are  multiplying the price by the weight to get the 

price index. Then divide the new by the old and multiply by 100 to get the index i.e. 104.34 
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